Monday 20th April 2020
Maths 
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Mental Maths 
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4. [image: ] Convert to same denominator first 
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[bookmark: _GoBack][image: ]
image6.png
9+7=




image7.png
48,360 - =47,220




image8.png
1,275+4=




image9.png
G

Slw




image10.png
6,472-1,945 =




image11.png
Multiply 4 Digits by 2 Digits

Multiply 4 Digits by 2 Digits

1a. Solve the calculation below using the
fully expanded method.

(1x3)
(1x10)
(1x300)
(1x1,000)
(20x3)
(20x 10)
(20 x 300)
(20 x 1,000)
Total

1b. Solve the calculation below using the
fully expanded method.

(3x2)
(3x10)
(3x100)
(3x2,000)
(20x2)
(20x 10)
(20 x 100)
(20 x 2,000)
Total





image12.png
3a. True or false?

2111x15 > 2121x14

g

3b. True or false?

g

1,223x 13

1,224 x12
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2a. Match the calculations to the correct

answers.
1.| 49464

2b. Match the calculations to the corect
answers.

3141x21 | 1.| 49,651

Al 4112x11
C.

L 2,114x11 | 3| 25692

A
C. 1,211 x41 | 3.| 86,961

o.(2141x12] 4 23254 |

0.[2121x41] 4| 45961
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1. Look at the function machine below.

sahiba says,

I know that 10 x 1,000 equals a 5-digit number
but 1 also know that multiplying a 4-digit
number by a 2-digit number can create an
answer with 6 digits.

Explore the lowest possible answers that can be achieved where the function machine
is correct.
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123x10=
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=123.9+58.4




